data =
I mport ["E:\\ Dokunment e und Ei nstellungen\\Sword\\Ei gene Dat ei en\\ Downl oads\\ Kpl Knmi n(1).txt", "Tabl e", "Fi el dSeparators" -»"|"1[[4;; -3, All1];

Zeil enskal ar [vl_, v2_]:= (erg = {};
For[i =1, i <=Length[vl], i ++, erg = Append[erg, Vv1[[i]].-Vv2[[i]1]1]1];
erg)

nk = 493. 677 %« 10" -3;

{data[[All, 1]] *Sin[data[[All, 2]]1] »Cos[data[[All, 3111,
data[[All, 1]] «Sin[data[[All, 2]]1] *Sin[data[[All, 3]]1], data[[All, 1]] *Cos[data[[All, 2111} // Transpose;
{data[[All, 4]] *Sin[data[[All, 5]]1] »Cos[data[[All, 6]11,
data[[All, 4]] *Sin[data[[All, 5]]1] *Sin[data[[All, 6]]1], data[[All, 4]] »Cos[data[[All, 5111} // Transpose,;

pl

p2

el

\/data[[AII, 17112 + mk? ;

e2 = \/data[[AI I, 4112 +nk? ;
m= 4/ (el2 +2ele2+e2?-Zeilenskal ar [p1, pl] -2 Zei | enskal ar [p1, p2] - Zei | enskal ar [p2, p2]);
h

Hi st ogranLi st [m 100]; hd = (h[[1]]1[[2;; -2]], h[[2]]} // Transpose;
1/ (oSqrt[2n]) Exp[-1/2 ((X-u) /o)"2] +aXx +b;

g
gv = FindFit [hd, g, {{o, 0.001}, {u, 1.02}, {a, 0}, {b, -8}3}, x, Worki ngPreci sion - 5]
{0 - 0.0067628, 1 - 1.0190, a -~ 86.468, b - -82.584}
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2| Untitled-1.nb
Show[Hi st ogram[m 100, Pl ot Range - All, ChartStyle » Blue], Plot[g /. gv, {X, 0.985, 1.1}, PlotRange - All, PlotStyle -» {Red, Thick}], Pl ot Range -» Al |,

Epi |l og » {Inset [g /. gv, {1.07, 60}, BaseStyle -» {18, Red}], Inset [StringForm["FWAM=""", 8Log[2] o /. gv], {1.07, 53}, BaseStyle » {18, Red}],
Inset [StringForm["Peak=""+ """, u /. gv, 4Log[2] o /. gv], {1.07, 47}, BaseStyl e » {18, Red}],
I nset ["Messdaten", {1.07, 30}, BaseStyle - {18, Blue}]}, | nageSi ze -» 600, BaseStyl e » {15, Bl ack}, AxesLabel - {"mm, (GeV/c?)", "Anzahl " }]
Anzahl
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